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1-4:  For each arithmetic sequence, find the next 3 terms, the common difference, the nth term named in the problem, and finally, write an equation that models the sequence.
1.   
8, -2, -12, -22, . . .  Find a31



2.   -20, -10, 0, 10, . . .   Find a38
3.   -24, -44, -64, -84, . . .Find a36



4.  40, 44, 48, 52, . . . Find a23 

5-6:  Find the nth term named in the problem.
5. d = -7, a1= -37.  Find a26  




6.  d = 5, a2= -9.  Find a36
7-8:  Find the indicated term in each arithmetic sequence.

7.   …-22. _____,  _____, _____, -46, . . .


8.   …, _____, 
[image: image9.png]Jory loves to lift weights. This is AFTER
he does his math homework every day!
His goal is to lift 265 pounds unassisted.
Currently, he can lift 125 pounds. Ifit
takes him 7 weeks to reach his goal, and
he increased the amount of weight each
week by the same amount. How much
weight did he add each week?
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9-10:  Show your work to solve each word problem.
[image: image8.png]Julia loves a good sale! She only has $75
to spend. She has her eye on a handbag
that is $355. The sale policy at TJ Max is
to reduce the price of each item by 30%
every week. How many weeks will she
can purchase the Kate Spade bag?



9.  







10.    


1-6:  Find the sum (Sn) for each arithmetic series described.

1.
a1 = 12, an = 100, n = 12




2.
a1 = 50, an = -50, n = 15

3.
a1 = 42, n = 8, d=6




4.
a1 = 4, n = 20, d = 
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7-8:  Use sigma notation to express each series and find the sum.

7.
8 + 6 + 4 + …. + -10




8.
3 + 6 + 9 + … + 99
9-10:  Write each series in expanded form, and find its sum.

9.
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11-12:  Find the first three terms of each series.

11.
a1 = 7, an = 83, Sn = 900



12.
a1 = 5, an = 200, Sn = 4100
13:  Solve the word problem.
13.  Logs are stacked in a pile.  The bottom row has 34 logs and the top row has 15 logs.  Each row has one 

       fewer log than the row below it.  How many total logs are in the pile?
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